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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-9

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:05 294 150.0 |Z=| 1BRi%e07:05 Bzh (REERESE)
07:50 294 150.0 |Z=| 1BRi&e07:50 Bzh (REERSE)
08:35 294 150.0 [ =| {Ri%e08:35 B (REAERESE)
09:40 294 150.0 FA| 1Ri%e09:40 Bzh (RAEESE)
10:30 294 150.0 El 1BRi%010:30 Bz (GRAERE)
11:20 294 150.0 =l {Rige11:20 B3 (RAERSE)
12:15 294 150.0 Sl {Rige12:15 B3 (GRAERSE)
12:55 294 150. 0 E| {Rige12:55 Bzh (RE{ERSE)
13:45 294 150.0 E BRige13:45 Bz CGRAERSE)
14:25 294 150.0 | Ri%e14:25 B (REAERESE)
15:05 294 150.0 E BRige15:05 Bz (GRAERERE)
15:55 294 150.0 F BRige15:55 Bz (GRAERE)
24t 3528.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

FEREHLEM 8 STHAEARSF (195.0 : 156.0), AIAEAMT—@E XAFHE
ZRIASEPRERE156.0 ml.

large discrepency for begining water status (318:114.0), set to 318 ml.
REXEEBIEC (2715.0) 5iZTEEC (2000.0) REKR K, HHRE

BEEIRECE (2715.0 vs 3725.0)fRe



FRV (ml plant-1)

ET (ml/hr/plant)

P3-9_0, Day=43 (2025-05-15)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-9

BfiE) | BRI (FD) | EE (EH/AR) | XK R

12:20 294 150.0 FA| 1BRi%@12:20 B3h (RAHEREEE)
12:50 294 150.0 FA| 1Bzi%@12:50 B3h (RAERSE)
13:20 294 150.0 & =| 1Ri%@13:20 B3h (RAHERESE)
13:50 294 150.0 & =| 1Ri%@13:50 Bz (kAFEREE)
14:25 294 150.0 & =| 1Rige14:25 Bz (RBHEREE)
15:05 294 150.0 & =| 1Ri%@15:05 Bzh (RAHEESE)
15:50 294 150.0 & =| 1Ri%e15:50 Bz (kAEREE)
23t|2058.0 (70%) 1050. 0 3EHKEC: 2080.0, PH: 6.0

FEREHERE STEELRF (191.0 :

2RI\ EPRERE153.0 ml.

153.0), AIEEHT—@E XA 5

FEREREC (2700.0) 5i&EEC (2000.0) RERK, BT




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=42 (2025-05-14)
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76 Warning: lcol [FVI',| "FVO’'] missing 66
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-9

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

05:50 294 150.0 (& =| 1BRiB@05:50 Bzh (KEEREE)
06:55 294 150.0 & =| 1Ri%e06:55 Bz (kPBIEREE)
07:40 294 150.0 5| {Ri%e07:40 Bz (FRAERSE)
09:00 294 150.0 = {RRi8009:00 B (RFAEEE)
10:10 294 150.0 | 1Ri&e10:10 B (REERS)
10:55 294 150.0 El 1BRi&010:55 Bz CGRAEREE)
11:35 294 150.0 =l {Rige11:35 B3 (RAERSE)
12:10 294 150.0 =l RiBe12:10 Bz (RAKEE)
12:45 294 150. 0 5| 1Ri%e12:45 B GREEREE)
13:20 294 150. 0 F| {Rige13:20 Bzh (RE{EREE)
14:00 294 150.0 5| Rike14:00 Bz (REAERS)
14:40 294 150. 0 5| 1Ri%e14:40 B CGREERE)
15:20 294 150.0 (% =| 1Ri%@15:20 Bz (REERSE)
16:25 294 150.0 | =| 1Ri%e16:25 Bz (kAEREE)
=it 4116.0 (14)%) 2100. 0 32803 KEC: 2080.0, PH: 6.0

FEREHEM 8 STHAEARS (191.0 : 153.0), AIREMAT—@E XFHE
ZRIASEPRERE153. 0 ml.

large discrepency for begining water status (324:120.0), set to 324 ml.
REXEEBIEC (2635.0) SiZEEC (2000.0) REKR K, HHRE



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=41 (2025-05-13)
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Warning: lcol ['PHB’,| 'PHC’'] missing
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